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(Sixth Semester)
FINANCIAL MANAGEMENT
BC-601

ﬁme : Three Hours Maximum Marlcs' ;&80

Note : Attempt Five questions in all. Q. No. 1 is
compulsory. Attempt any four questions
from remaining eight questions. All
questions carry equal marks.

(Complilsbry Question)

l. (a) How is Financia Management distinct
from Financial Accounting ?

(b) What are the objectives of financial
planning ?
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(¢) What do you mean by under-
capitalization ? -

(d) 'What do you mean from dividend policy ?

(e) What is cash budget ?
() What is optimum credit policy ?
(2) What is inventory management ?

(h) Distinguish between Explicit and Implicit
Cost.

Financial accounting and financial management
are complementary in nature. Do you agree ?

Explain.

Over-capitalization is as dangerous as under-
capitalization in business. Explain this

statement.
Explain the source of owned capital in brief.

As there is no explicit cost of retained earnings,

these funds are free of cost. Comment.
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6. A company has total investment of ¥ 10.00.000

and 1,00,000 outstanding shares of face value }
of ¥ 10 each. It earns a rate of return of 11%
on its investment and has a policy of paying
60% of its earnings as dividend. Is it optimum
dividend policy as per Walter’s model. What
is the optimum policy and why ? Assume that
the required rate of return is 12%. Show the
working.

Compute working capital requirements from
the following details :
Budgeted sales : 20,000 units per annum

Raw material per unit cost : T8
Direct Labour per unit : 38
Overhead per unit : : V.2

Total cost per unit : I8
Profit per unit : . T2
Selling price per unit : . ?_Tg

Additional information :

(a) Raw material ‘will be carried in stock for
4 weeks and finished goods for 2 weeks.
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9. (a) Chetan Ltd. requires 2,000 units of a

certain item per year. The purchase price

per unit is' ¥ 30. The carrying cost of

Enventmy 18 25% of the unit cost and the

cost of per order is ¥ 1,000.

You are required to :

() Compute the Economic Order
Quantity.

(i) What will pe the total cost of
ordering the cost of carrying
inventories when 4 orders of equal
sizes are placed ?

(b) Write a note on concentration banking,

(Hindi Version)
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